Math 109   Class 4     9/4/07
Rational Expressions

Rational expressions are expressions that involve quotients.
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Note that the denominator in a rational expression cannot be 0.  [In the first expression x cannot be 1, for example.]

Operation with Rational Expressions

If P,Q,R, and S are expressions and Q and S are not 0 then:
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Fundamental Property
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Multiplication
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Addition


[image: image9.wmf]Q

R

Q

P

-

 =  
[image: image10.wmf]Q

R

-

P




Subtraction
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Division    [invert and multiply]
Use the fundamental property to reduce  
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Reduce   
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    [We factor both]
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     Why?
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Using a common denominator
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Complex Fractions   -  quotient of 2 rational functions

To simplify them we usually multiply by common denominators.
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Try


[image: image51.wmf]1

-

y

1

y

1

y

1

+

-

       

_1155647934.unknown

_1155716446.unknown

_1155717028.unknown

_1155787696.unknown

_1155788219.unknown

_1155876145.unknown

_1155876199.unknown

_1155876098.unknown

_1155787905.unknown

_1155787951.unknown

_1155787760.unknown

_1155717380.unknown

_1155718020.unknown

_1155718077.unknown

_1155718308.unknown

_1155717917.unknown

_1155717152.unknown

_1155717308.unknown

_1155717099.unknown

_1155716645.unknown

_1155716927.unknown

_1155717013.unknown

_1155716804.unknown

_1155716597.unknown

_1155716622.unknown

_1155716538.unknown

_1155715679.unknown

_1155715796.unknown

_1155716311.unknown

_1155715758.unknown

_1155711284.unknown

_1155711468.unknown

_1155648128.unknown

_1155645669.unknown

_1155646411.unknown

_1155646813.unknown

_1155647885.unknown

_1155646620.unknown

_1155645799.unknown

_1155645847.unknown

_1155645722.unknown

_1155645254.unknown

_1155645640.unknown

_1155645653.unknown

_1155645549.unknown

_1155644452.unknown

_1155644959.unknown

_1155644091.unknown

